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a The upper bound calculation is performed in the

following steps

propose a kinematically admissible deformation
mode that satisfies the displacement boundary
conditions

i Equate the internal plastic work associated

with the deformation mode to the external

work to calculate the collapse load

If the proposed mode is the exact solution the stresses

associated with this mode satisfy equilibrium
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Iii The calculation to include friction along the

sloping surfaces will use the energy balance

equation

Izu k la et lo Noa t f laB ab

where f is the friction stress along the sloping

surfaces


